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HSSC Question Paper dated 26 December 2021

Jhajjar was earlier a part of r
district of Harvana.

(A} Rohtak (B) Sirsa
(C) Hisar (D} Rewari

Fil
If'l-l+4x2. 3'thﬂna:

0
(A) -% (B) 2

1

(€ = D) 1 %&

Which is also known as ‘Ping-Pong’ ?
{A} Volleyball (B) Hockey
(C) Table Tennis (D) Badminton

Haryana Govt. had renamed village
_in Yamunanagar district to
Saraswati Nagar.
{A}] Mustafabad
[C) Mundri

(B} Akbarabad
(D} Doulatabad

In SOL we can use a
statement to remove a database or a
table permanently from the system,

{A) Drop
{C) Close

The far point of a myopic person is
80 cm in front of the eye. What is the
nature and power of the lens required
to correct the problem 7

(A] Convex lens of power + 0.8D
(B] Concave lens of power —1.25D
(C) Convex lens of power 1.25D
(D) Concave lens of power — 0.8D

[B) Remaove
() Delete

During the period of Mohammad Shah,

India suffered from the invasion of
[A) Mohammad Ali Shah

(B) Babar

[C] Nadir Shah
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(A) FTeftand (B) BT
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JA] FETHET (B) AT
(C) HEI (D) SieaTEE
SQL H 2n Rl Temw 1 2ot 71 farem A
T =9 & e & fom [=rir
1 I W e

(B) fo=

(4) 3T
(C) i () Fehe

fepregee & ftm =afea =1 =1 forg ¥ % wmim
80 cm B Iunwa%ﬁa;ﬁaﬁﬁmmﬁtra
oa Fi wifgw s vFfR Fn d 7 ;
(A} T + 0.8D F1 I8 ¢
ﬁ & ~1.25D F1 3gad o
(C) ¥4 1.25D #1 394 Hu
(D) I — 0.8D 1 et =4

HIEHTE TR & Fe 0, WRA
HTHHT =] T 1 T
(A) ATeE et e

(B) SRR

) a1fet 1mg

(D) BTG IR 11
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refers to differences

within the group or set of data of a
variable.

(A} Range

(B) Standard deviation

{C) Random

(D) None of the above

A positively charged particle (alpha
particle) projected towards the west jis
deflected towards north by a magnetic
field. The direction of magnetic field is

(A] Towards east
{B) Towards south
({C) Upward

(D] None of these

Chaudhari Devi Lal Herbal Nature Park

is situated at reserved forest
in Haryvana.

(A) Khaparwas {B) Chuharpur
(C) Saraswati (D) Nahar

Anil is the brother of Pankaj, Sheethal
is the sister of Rahul, Pankaj is the
son of Sheethal. How is Anil related to
Sheethal ?
{A] Father
(C) Son

(B) Nephew
(M Brother

According toa the Faraday's Law of
Electrolysis the mass of the substance
liberated or deposited at any electrode
during electrolysis is proportional to
the quantity of passed
through the electrolyte.

(A] Voltage (B) Resistance
(C) Power yPl Electricity

If the parabola y* = 4ax passes through
the point (3, 2), then the length of its
latus rectum is

4
(A 3 (B)

L= afma

[C) 4 (D)
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T % v e W waA w2 |
i) At
(B) o1 ferrer
(C) agfem w0 8
(D) 39 § | IS A
afrem i 3ir wafia v g sAfma
F07 (WEH] FHOT) i UF AR @3 TN IN
£t i fasfes =1 g &) qafm a3 A
feme
(A) T = 3
(B) e i 30
(C) FH FT R
(D) $79 & Frd 7
heft 2 o eda gl T wHEE F
wifsmaad fam e
(A) @TET B TR P‘f
(C) T (D) AT
she v w1 vl 2, wfiaa TeE 1 ww
2 | 99 Ffae %1 @ 2 | 7fae wfiae @ fem
YFN @iy & 7
(A) fum (B) wefran
JCH T (D) wré P‘

m#ﬁgﬁr:ﬂwﬁw%mﬁ@
F99EA F I ot setegle ot e @ e
el =1 5T feE s & aregw @
=1 | % wREaTH w0

(A) Fiees (B) wfedm

(c) #fa ~pf T

a2 W v = 4ax B2 (3, 2) & e
&1, A1 36 ey Twen ) o

W3

;.I.
(A 3

G| = L[ ba
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14, 'Petrology’is a science of 14.
(A} Minerals (B} Climate AT EEm (B) JeEyg
(C) Soil (D) Rocks (C) 52 (D) CHE|
15, The State sports of Haryana is 15, #fram =1 v a2
(A) Football (B) Shooting (A) Feaie = RELUEE I
(C} Wrestling (D) Cricket e Tt (D) fake
16. Complete the following analogy. 16, f=fefaa m‘lﬁ Hifere | ﬁ
10.1:1.01 ::0.1: 10.1: 2 1 1 2
(A) 0.01 (B) 0.10 L,{(ﬂ m (B) 0.10
(C) 0.001 (D) 1 (C} 0.001 (D) 1
17. The Harappa is located on the banks | 17. #&W™ 39 % fem fem 2 |
of the river
(A) Ravi (B) Sutlej (4) TR B} ST
(C) Ganga (D) Beas (C) ™ (D) ="
18. At the time of short circuit, the current | 18, @9 iy % w9g, vitgg 7 faga
in the circuit (A) Tiafda 2 &
{A) Does not change el
(B} Increases heavily “-"I'BT ;‘ré:q ﬁﬁ t%
(C) Reduces substantially (C] 1 H g
(D) frie wfafda &

(D) Vary continuously

s 1 yefeai EECRIE Gl

19, The Aravalli hills do not run through 19.

(A) Harvana (B) Gujarat (A) feamom (B) o
{C) Rajasthan (D} Punjab (C) T T SeiTE
20. is used to insert anew element | 20. _ F I e BN W R UE
to the queue at the rear end. Wﬂﬁ%‘lﬂﬁ%hﬁf&?ﬂim% I
{A] Enqueue (B) Squeue % (A) T (B) ¥
ﬁ Requeue (D) Dequeue (cy T (D) ﬁﬂ
Glogx _ _Slogx Ehlu;x _Eﬁhg}:
e e -1 .
21. ,[ ptloEx _Estugx dx = @ .l- etloex _ 3logx dx =
x* x*
[.l""'.!.} E‘"C {BIX"‘[: [..'nl.] -:?—*1'[: {B}xi-c
3 by oo w3
(C) x* + ¢ (D) 3{5—+C [C) x*+ ¢ (D) s

22. What is the name of fleshy coloured | /22, FNTETd FHARER H HISE WHA T F FFH

bracts present in Spadix Inflorescence ? /r FIFTAME 7
(A) Lemma (B) Glumes (A) &7 IB) T

(C) Spathe (D) Corymb (C) Fy (D) Fifr=

D -4-
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23. e __is the largest wetland of | 23. mﬁmﬂﬁﬂrﬁ@*'
arvana. ;
(A) Damdama (B) Hathnikund (A) ZHEHT (B) EfrEs
(C) Bhindawas (D) Badkhal \Jef Mg (D) =8
©124. Find the missing letters, @ A 39 g it |

_cd_ac b_ _dbacd_

Y

X p  Gedbackbb dbacd.
\B/E}"\ (A) abdach (Alabdach
N o B) abdbac B) abdbac
\_F‘.x (C) abdbca (C)abdbca
+_Fd‘ [Djacdbad (D) acdbad
1.,L{:' 25. Following svmbol used in the circ'uil.l:s 28, ufmy #§ Feafafiaa @A Eﬂ
"a for 7 wgmEm
-{‘#da . | |
lﬁ\ﬁo [ [
\ (A) Switch (B} Bell (a) fEm By
(c) ufay fegiew (D) et g

0%

{C) Circuit breaker (I} Earth point

26. Light enters from air to glass having
refractive index 1.50. What is the
speed of light in the glass ? (speed of
light in vacuum is 3 * 10*ms™')
{A) 4 » 10°ms™’

(B} 2 » 10°ms™"
(C) 1~ 10°ms™’
(D) 6 = 10°ms™

In Harvana the zonal research centre of

27.
eastern agro-climatic zone is located at
(A) Karnal (B} Bawal
(C) Sonipat (D) Hisar
28, Find the word which cannot be made
from letters of the given word,
PREDILECTION
(A) DIRECTION
(B] ELECTION
(C) PREDICTIONS
(D} DICTION
-5
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26, vEW ag & = § w@w = @ Gen
AR 1 502 | FaHym R ?
{mﬂﬂﬁﬁﬂzﬁﬁﬂxlﬂﬂmﬂ"ﬁ]

am (A) 4 x 10°ms”

9t (B) 2 x 10°ms”

-—fCTl x 10* ms™*

(D) & x 10*ms"!

27, T FY-FeEy AHe = wafas SuaT
Fzefmomx 0 dAfoEmd
(A} FETEH (B} sTae
(C) @ B feam

% ¥1eg e shifsre o oo o g A wed R
A A ATHF |

PREDILECTION
(A} DIRECTION
(B} ELECTION
¢ {2 PREDICTIONS
(D) DICTION

28.
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29, Neeraj Chopra won Gold medal in
2020 Tokyo Olympics in the event
(A) Javelin throw  (B] Shotput
(C) Weight lifting (D) None of these

30. Petaloid bract present in which of the
following flowers ?
(A) Bougainvillea (B) Palms
(C) Banana (D) Adatoda

31. The inclination of the linex-y+ 3 =0
with the positive direction of x-axis is
{A) 135" (B) 60"
(C) 90° (D) 45°

32. A domestic pump set driven by a
single phase AC motor of 240 V, 50 Hz
has to deliver 1000 litre to a height of
30 metre within 15 minutes. Find the
HPF of the motor if the efficiency of the
motor is 80%.
{A) 1.75 HP (B} 2.75 HP
{C) 3.75 HP iD) 0.75 HP l';

33. In which of the following districts of
Haryana Kakroi micro hydel project is
situated ?
(A) Gurugram (B] Sonipat
(C) Rohtak (D) Panipat

34. Sam goes towards east 12 kms and

35.

D

then he takes a turn to South West and
goes 12 kms. He again takes a turn
towards North West and goes 12 kms.
With respect to the point from where
he started, where is he now ?

(A} In the west

(B) In the east

(C] In the north west

(D) At the starting point

is usually granted for

Inventions,
(A) Copyright  (B) Patent

(D} None of the above

[C) Trademark

AM-E - 2021

29, = FOE 3 2020 TN Aefiee § w=of

PLED  Hsfin
AT (B) e e
(C) WHIFIA (D) ¥ & Fd 7
30. ffafas 4 4 frm o o teafye sw Ao
AR
efaraafafern B) wiferat
(C) Fen (D) FaTT=
31. x-y+3 =0 % TFAx-34 F
wFE fam | fFan # 7
_AA) 135° (B) 60°
(C) 90° (D} 45°

g@ 240 V, 50 Hz %) U5 Vet WrawT UH Hi

N ST A AT i U e #5130 Hiew A
% 15 e d 1000 dfrerzm & g
1 s afz 8o 2, 71 HP 39 Fifer |

(A) LTSHP  *_4f) 2.75 HP
{C) 3.75 HP {D) 0.75 HP
33. wfammF fafafas 4 4 fra Fa G w=0d
HTEs] 9 gfEan g 2 7
} TEATH (B} grME
(C) Tred= (D) Uriea

e
=yt
B A

34. M@ A oAn 12 TEdfi gam b | To TR
e -ufrem 1 3R qEa 2 s 12 fEd
A ® | A8 O Iw-afrm ) sin a2
3R 12 foft wmen & | el & 393w T

CINECEECE Rt kA il
(A) afrm < 7
L

(B) @A
*{’1;; -

y (Dy e fig w
e o sfasEn & fau

femamm e
B e

(A) FdATZE
(C) ZEuT (D) I9ir § | F7E T

(C) F-ufr=m |

35.

-B-
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The layer of the atmosphere in which
Ozone laver is located

(A) Mesosphere [B) Troposphere

{C} Stratosphere (D) Thermosphere

e was founded on 15
August 1979 and became the 12"
district of Haryana.

{A) Sirsa

(B] Palwal

(C) Faridabad

(D) Sonmipat

The accessories rating shall be 240 V
and & or 16 amps from the year 1991,
instead of 250 V and 5 or 15 amps
as per

{A) BIS 1923-1988 |

(B} BIS 1293-1988

(C) BIS 293-1988

(D) BIS 1293-1998

The value of log, ; 64 is
(Al 3 iB) 2
€ 5 (D) 4

Cause of motor runs too fast under
load is

(Al Weak field

(B) Line voltage too high

(C) Brushes are out of neutral plane

JDFAl of the above

The spontaneous combustion of
phosphine is technically used in
{A] Home signals

(B) Fire extinguishers

{C) Fire crackers

(D) Holme's signals

In Haryana the folk dance of Faag is
performed during

(A) Diwali
(C) Baisaki

iB) Duashera
(D) Holi

JLOM0336
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arpiga ) e fred 3 v fim 2
(A] TEHEA (B) sframEa

dgytﬁ’amza (D) AMEEA

oo 15 50Ea 1979 B Ef
st efraron #0112 &l e amn

(A) o T

(B) TeEa T

\ﬁﬁm

(D) Hifr

% 3En A 1991 # HEEF
WO ZFA 240 V 3 6 T 16 TRET A1
fE0 Famg 250 V W S T 15 TR F |

: [A) BIS 1923-1988

(B) BIS 1293-1988

e BIS 293-1988

(D) BIS 1293-1998

39. log, ;64 wuAR
(A) 3 B 2
(€l 5 (D) 4

40, W % AT G121 & AW I F HEm B
(A} FHAT &Y
(B) ¥TEA diees Weatu B
(C) w1 1 Feefa 7 & A e
Dy wl

41. WIFRA ¥ w=a; Tafdd 28 e I9am
wren 2
(A) Tm firae
(B) wfesms
erde
(D) ®red T

42. Fmmndemwedsge 0 %9
Fmam e
(A) fareh (B) &9TE0
(C) v +0) el



Join Telegram Group "HaryanadJobs.in"

22000336

ks AM-E - 2021
43. Who has been known as ‘Father of 43. 'wrafiE # fam’ e ww s @ 7
Genetics’ ? ; _
(A) Gregor Johann Mendel (A) TR SiTE™ Hee
(B) James D. Watson (B) S/ &, afewA
(C) Charles Darwin ey = i
(D) Francis Crick (D) wifea fes
44, Who was the flag bearer of country’s | 44. @i fmfafrs 2020 # 3qa A F
contingent during the opening ceremony A 91 % e sAFaEE FA 9
of Tokyo Paralympics 2020 ? &2
[A) Tek Chand i
(B) Avani Lekhara (B) 37 @
(C} Thangavelu Mariyvappan (C) Wﬂﬁﬁm
(D) None of the above (D) Fuda | | I8 T8
45. This is a one sided earthen instrument | 48, I8 B § TF ST A a1 F1 &1 TR #
played by two small sticks in Haryana St 2 B <fedi & F=ma J 2
(A} Jhil (B) Taasha (A) et B AT
(C) Ghungurus (D) Nagara : (C) Hg&H (D) TET
46. It is an electrical measuring 46, TE UF faEa A9 RER: S Tk mf
instrument generally used to Fye anfe F1 dwE faia @A F e
e mion eisance o | e, g
an insts on/equip : ;
(A) Jumper (B) Lifter (A) TR (B) =
(C] Racker Megger g () W (D) TR
47. The greatest value of sinf-cosb is 47. sinf.cosb F1 I=IA9 9H 2
1 1
(A) 1 B) LE (B) 3
1 1
(C) 2 (D} 2 (C) 2 D) 2
48. In Haryana this famous Pidi design [ 48. Wﬂﬁﬁﬁaﬁ 77 witeg fesmsa oi|
resembles the game of dice e o fiem 2
(A) Charpai _AK) =
(B} Giani Chor Ka Chatta (B) T =1 1 S
(C) Pacchisi (C) wedtdl
(D} Nome of these (D) ¥ | F13 T2
49. Find the odd one out. 49. T ?m':T FHu | i
(A) Mumbai (B) Chennai (A) Terd (B) I8
(C) Pune (D) New Delhi (C) g b1 ¢ fed
D -8-
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80. The current carrying capacity of the
cable decides the __ SR )
the cable,

(A) Colour Size
(C) Quality (D) Shape

51, Catalyst used in the following reaction is
2KCI0, —— 2KCl1 + 30,

(A) MnQ, (B] Cr,0,
(C) Fe,O, (D) MnO,

52. district of Haryana has
lowest urban sex ratio as per 2011
Census.

(A) Fatehabad (B} Gurugram
(C) Panchkula (D) Sirsa
83. Find the Mirror image of the following
word.
XYLOPHONE E
(A) BMOHTOLYX
(B) HMOHIOJYK
{C) BNOHPOLXY
(O} ANOHPOLYX
54, To speed up the operations of the

Central Processing Unit [CPU), 4 very
high speed memory is placed between
the Central Processing Unit (CPU) and
the primary memory known as
(A} Read Only Memory (ROM)
«4B] Cache

[C)] Register

ﬂ (D) Random Access Memory (RAM)

55, Im-(l 2]
3 4

of 3A) is

(A) =

(B) -

(C) - 36

(D} 1

, then |3 A| (determinant

J

22000336
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50, e ) farga aveeh s Fad &
w1 Pt weeft
(A) T (B) ¥R
(C) ToTaH (D) T
forer arfufgrm & v Ry o 3aE B
2KC10, —— 2KCl + 30,
(A) MnO, (B) Cr, 0,
(C) Fe,0, (D) MnO,
52, vfmmm &% _ fEE W 2011 H
ST % argat feman el e R
(A) FABIaT (B) e
(C) T Dy fora

53, A faw o y=2 w1 2w wfifaes s

o

XYLOPHONE E

(A] BUOHIOLYX
BT HMOHIO0,IYX

(C}) ANOHPOLXY 'f

(D) ANOHPOLYX #

54. #za vrafhm gfie (dify) F deren = A
FA ¥ forn, deet Wil g (didy) #i
et HE % W o TEa g Ied T
Arelt WA W TEn e ¢ f
FEr A |
(A) Tz fa sd) (RoM)
(B) %=
()

(D] T=eH TEHHR HART (RAM) & ¢

5 4]%;\ |3 A {smm 'i/

\J\Tb/

fearfir) 2
(A) - 18
(B) -

12 B

(D) 18
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In India National Milk Day is celebrated
EVETY Vear omn

(A) 28" February (B) 22" September
(C) 26™ Qctober (D) 26™ November

56.

57. This districtis called as "hub of making
durries’in Haryana
(A) Panipat
(C) Hisar

(B) Bhiwani
(D) Gurugram

o

58. Indian Statistical Institute {IS]) in

Calcutta was established by
(A) C. R. Rao

B} Pranab K. Sen

(C) Mahalanobis

(D) Jayvanta Kumar Ghosh

59. Which of the following is a high level
language ?
(A} Python
(B) Both (A) and (D)
(C) Neither (A) nor (D)
(D) FORTRAN
60. Who was awarded with the title of
‘Rai Bahadur'in Harvana ?
(A) Chaudhary Devi Lal
(B} Sir Chhotu Ram
(C}) Om Prakash Choutala

(D) Bansi Lal

Arrange the words given below in a
meaningful sequence.

1. Word

2. Paragraph
3. Sentence 0

61.

AM-E - 2021

56. WA 1 & " Y g fay Fw gam

e
(A28 weEh (B) 22 foarn
(D} 26 TawR

(C) 26 Fz
57. 36 foe & efaon § ‘28 94 1 F2” w0

B
(B) foarh

BIEikG
(c) feam (D) TEI™H

58, ot H WA gifegdl GraE (181) F
T PRl
(A) H. 3. 1@
A o .
(C) HErEAIfaE
(D) A FAT =
59. T HA®HF A A Y2 7
(A) T3atd
48] (A) 3R (D) ZHT
(C) (&) 3R (D) ZFI
(D)
eframon 4t FErEy ofit 3wfy & i FErn

1
{?ﬂ

(A) =t =t J =
(]/

@.

(C) ™ w=re S 4
(D) =L AT

44 faw o weEt = vss wiedE = H safiaa
W |

. =@
qi=ge
arm &
s @
ATEATTT

A4, 1, 3,
1

3
(C) 4, 1, 5,

61.

e e

b ]

2 1
2 (D) 4, 2.5,

w

4. Letters

5. Phrase

(A) 4,1,3,5,2 B] 4,1,2, 2,3
iC] 4,1,5,3,2 D] 4, 2,8, 1,3

22000336
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62. The turning or twisting moment of a
force about an axis is called
(A) Moment l‘_‘.E-']/'—TmT.]!.IE
(C) Reflux (D) Shear
63. Which cell organelle is called power
house of the cell ?
(A) Mitochondria  (B) Ribosome
(C) Nucleus (D) Lysosome
64. The only hill station of Haryana is
situated at
(A) Kalka hill
{B) Aravalli hill
(C) Mormi hill
(D) None of these
65. _ refers tothetrustworthiness

of the data because processing such
incorrect data can give wrong results
or mislead the interpretations.

(B} Velocity
(D) Volume

(A) Variety

L(Efn‘l.*' eracity

The purpose of the __ _isto
make holes in the brick and conerete

walls or ceiling for fixing the batten or
round blocks.

(A) Guide jumper
(C) Lite jumper

66.

(B] Code jumper
(D) Rawl jumper

Which among the demographic
profiles of Haryana is lesser than that

%ﬁ]
-

(A] Sex ratio

(B) Literacy rate

(C] Decadal growth rate

(D) None of these

The Amendment of Indian Conslitution
which inserted the list of Fundamental
Duties of citizens
(A} 21%

67.

68.

[E] -_‘EEII”

(C) 44" (D) 42

22000316
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62. W-ﬁﬁ*ﬂﬁﬁ!%ﬁﬂﬂ@hmg@m

Aol e k|
(A) et (B) =%
(C) Feerereret (D) &
63. T ae smtael #1 FifdeR %1 e wIg
B TR 7
AR (B) T
(C) ffermm (D) wTEHIEm
64. Ewnwm%a@m_ -
ETH%|
(A) TIeTeT & %
(B) srTae faet
lerdrh fea
(D) 3 ® =rd
65. , 2o 1 g = gzfiE
FET & FF T8 TR F oA T2 ) wari
14 | e gftorm firer gard # 1 s
&1 Wik wEE |
(A) Fafeemn (B) 97
(c) Fufafz (D) HATT
66. = 3tvg a0 ofn FEe danim
Al § %= a1 e el # e & o e
FETE |
(A) TTEE WL (B) &5 AT
(C) ¥Tge S oDyt s
67. 2011 i T & IFFER TN F T

mm@ﬁﬂnﬁ_ﬂmmﬂm% ?
1) fema

(B) TETAT 3T
(C) =TT gig &t
(D) 3 & 1 el
68. WHAW wiayw™ # guied e amie #
uiferen ey warfea o
j 214 (B) 2231
(C) 444 Dy 424t
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LH and F5H stimulate gonadal activity
hence they are called

{A) Vasopressin

(Bl Gonadotrophins
(C) Thyroxi

(D) Oxytocin

Current Chief Justice of Punjab and
Haryana High Court is

(A} Ravi Shankar Jha

(B) P. Sathasivam

(C) Tirth Singh Thakur

(D) Krishna Murar

Which of the following Scheme has
been started by the State Government
of Haryana to ensure welfare of
abandoned and surrendered children
across the State ?

(A} HARHITH Scheme

iB] HARIHAR Scheme

(C] HARAHARA Scheme

([} None of the above

The value of sin (45° + 8) - cos(45° - B) is

(B) 1
(D) 2cosd

15 considered as anon-formal
language that helps programmers to
write algonthm.
(A) Algorithm
(B] Flowchart

{C) Pseudocode
(D) None of the above

(A} 2s1nb
{C) O

In Haryana the annual award for an
outstanding referee /umpire fjudge
would be given every year in the
name of _ _award,

(A) Arjuna (B) Bhim

(C) Vikramaditya (D) Padmashree

69.

TaTE ¥ 2framm 3= e F b g
=rrandfin #
AT TR T

(B) d. werfoEg

(c) e fire am

(D) Fm Hw

Frafafaa & & #9-d e wfram 0=
rEn AT e A o 2 e e 9 oF
gfters | 3 B2 U A= F S

yfafra P sas 7
(A) HARHITH T

\_{BY HARIHAR &1
(C) HARAHARA 3T
(D) 3T § § Fd 39
72. sin (45° + ) — cos(45" - B) FTE ?
(A] 2sinB LB} 1
e o (D) 2cosb
v -ainfiE ame F =
| 91 S 8, |1 9 ) veniEs s
\_EI"EM% |
ueEs "
(B) FeArET
(C) WEIE
(D) 39T | | 13 T
e T T /st R
e qrean wived ST A |
e sman @
(A) 3T
{2y fegmfee

70.

7T1.

73.

74.

(B) W™
(D) wEhst
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75. Fillin tlhe blank with appropriate 79. Choose the right form of the verb given
determiner. in bracket among the alternatives
Will you have _ more tea ? given below it and fill in the blank.
{A) any .j':?y ___ (taste) sweet,
(B) few tastes
; (B) will be tasted
G4 iy ___[C) tasting
~4BT some (D} taste
76. The following sentence contains
grammatical error or idiomatic error | 80- Fill in the blank with suitable
in it. You have to find out that part of ﬁ!l?f:fc i e
the sentence and choose the alphabet e
& of locusts.
of that part as your answer,
. |A) army
Although it was hot but Mohan was B
wearing a woollen suit. C] T
(A) but Mohan was wearing } oo
. (D) flect
(B] a woollen suit
{C) No error 81. Fill in the blank with appropriate
Although it was hot phrasal verb from the alternatives
given below it.
There were only a few persons in the
T7. Choose theman/um-uf the given mine when it .
word from the alternatives given (A} blow out
below it. BT blow up
Calamity
= ¥ (C) blow off
& 7 (A) Tender - (D) blew up
|
(B) Dark
(C) Cataclysm 82. ldentify the synonvm of the underlined
D) Fortune word in the sentence given below :
Habitual consumption of hot food
78. Choose the correct spelt word., played havoc with his health.
(A) Concive (A) cold
(B) Conceive (B) sweet
(D) Conceeve (D) none of these
-13-
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83. WM ¥} gfR ¥ "y svE = & e 87, ‘s’ vz #1 e 3
._,j:f? (A] HAT g
I (B) farmveh g wmm
(B) &1 :
(C) AR AE) T3 1l
(D) T & FrE 78 (D) 548 & %1 77
84. Frofaras v m R Fma 8 7 88. 98 I} 51 9T F 98 ¥
(A) T wdTm wrsdl =1 a1e % z@ gdIH 1 TH F0a 2 3wy ) oyt A g
e ST o WY HEY w2 | ®Y Y FIAT 2 |
=W (pyfor wefm wredi 1 s e & o (A) G
1Y IS Fa & fow fFm e 2 (B ST
() Torr v w==1 @ e Fafeea == -
g1 % 1 F1Y BT 2 | .
(D) sﬁa?aﬁi T (D) ¥ 8 1 7
8s. oA o afy foms wve 7 7 o, 89. wyF foFan fFd e 2 7
FeA 2 | (A) T & o =1 wgim fRn ST 2 )
(A) 1o \ByE 21 31 31 & sifu faramd firers ool
(B) @UE T =1 g FOAt
ey = (©) e e & O v 2R A 3
(5 2 o |
86. e FRdl o i 3EE ASA T @ Gl (D) 39H ° IS 47
; ;
|
FEATE |
(A) WITH1 S SHRT
(A} THF
(B) I < %:Bwﬁm*m
i) T TUAC) ¥ A
(D) 394 @ H1E T (D) 39 & F1E T
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